
A V A I L A B L E  S Y S T E M  C O M P O N E N T S

DECK MOUNT KIT:

RAIL MOUNT KIT:

VE
RS

IO
N 

1.
6

PRODUCT 
IMAGE

PART  
NUMBER

PART  
DESCRIPTION

BOX 
QUANTITY 

PALLET 
QUANTITY

INCLUDES (1) LID SCREW W/ LOCKNUT, (2) #12 DECK SCREWS W/ EPDM SEALING WASHERS,  
(1) 12” X 9” ALUMINUM FLASHING, (1) DIN 3 RAIL 6 7/8”, (1) 4-TERMINAL GROUNDING BAR, (4)  

#8X3/8” SS DIN RAIL SCREW AND (2) #8 X3/4” SS GROUNDING BAR SCREW 

4011013 J-BOX W/DECK 
MOUNT KIT BLK 4 192

INCLUDES (1) LID SCREW W/ LOCKNUT, (2) RAIL CONNECTORS, (1) DIN 3 RAIL 6 7/8”, (1) 4-TERMINAL  
GROUNDING BAR, (4) #8X3/8” SS DIN RAIL SCREW AND (2) #8 X3/4” SS GROUNDING BAR SCREW

4011014 J-BOX W/RAIL 
MOUNT KIT BLK 4 192

2012019 CF MLPE MOUNT SS 50/400 17600

INCLUDES (1) 2” LAG BOLT AND (1) SS 8-18 X 3/4” TEK SCREW

3011010 CONDUIT BRKT COMP 
MLL 50 10350

INCLUDES (1) SS 8-18 X 3/4” TEK SCREW

3011011 CONDUIT BRKT TILE 
MLL 60 4320

JU
N

CT
IO

N
 B

O
X

A
CC

ES
SO

RI
ES

The Junction Box 

includes screw bosses 

in multiple orientations 

and screws for installing 

the included DIN rail and 

grounding bar. 

4011013

4011014 2012019 

Rail connectors easily attach 

to any MLPE Mount.


